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Prospective Analysis

ISecurity Valuation - free cash flow and residual

Income models require estimates of future financial I
Istatements. I

IManagement Assessment - forecasts of
financial performance examine the viability of
Icompanies’ strategic plans.

IAssessment of Solvency - prospective analysis I
Iis useful to creditors to assess a company’s ability

to meet debt service requirements, both short-term I
Iand long-term. J



The Projection Process

Projected Income Statement

Sales forecasts are a function of:
1) Historical trends
2) Expected level of macroeconomic activity

3) The competitive landscape

4) Strategic initiatives of management



The Projection Process

Steps:

1)
2)

3)
4)

5)

6)

Project sales

Project cost of goods sold and gross profit margins
using historical averages as a percent of sales
Project SG&A expenses using historical averages as
a percent of sales

Project depreciation expense as an historical average
percentage of beginning-of-year depreciable assets
Project interest expense as a percent of beginning-of-
year interest-bearing debt using existing rates if fixed I
and projected rates if variable

Project tax expense as an average of historical tax I
expense to pre-tax income I
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The Projection Process

Target Corporation
Projected Income Statement

Sales: $52,204 = $46,839 X 1.11455
Gross profit: $17,157 = $52,204 X 32.866%
Cost of goods sold: $35,047 = $52,204 — $17,157
Selling, general, and administrative: $11,741 = $52,204 X 22.49%
Depreciation and amortization: $1,410 =
$22,272 (beginning-period PP&E gross) X 6.333%
Interest: $493 = $9,538 (beginning-period interest-bearing debt) X 5.173%
Income before tax: $3,513 = $17,157 — $11,741 — $1,410 — $493
Tax expense: $1,328 = $3,513 X 37.809%
Extraordinary and discontinued items: none

Net income: $2,185 = $3,513 — $1,328



The Projection Process

Target Corporation Projected Income Statement

(in millions) Forecasting Step 2006 Estimate

Income statement
TORAL TRVRIUBS ...ttt et ee e e et e e eene e e
CoSt 0f 00US SOI ... e

$52,204
35,047

17,157
11,741
1,410
493

Income before tax ... 3,513
Income tax expense... . 1,328
Income (loss) from ex’[ranrdlnary |’[ems and dlscon’[lnued operatmns ...... 9 0

NEE INCOME. ... coeeeee oo eeeee e ee s eeeene e eees e eesenennenes 10 $ 2,185

OUESTANAING SNATES ..ottt et s 891

Gross profit.... ettt s
Selling, general and admlnlstratwe expense ...

Depreciation and amortization eXpPeNSe ........ccuveeeeveeceeiee e
INEEIEST BXPENSE. ... e ettt ettt ere et e e

0o ~1 O U =R Lo —

Forecasting Assumptions (in percent)

Sales growth.... 11.455%
Gross profit margin... 32.866
Selling, general, and admlnlstratwe expensefSaIes 22.490
Depreciation expense/Gross prior-year PP&E ..., 6.333
Interest expense/Prior-year long-term debt.........ccccoooivvei e 5.173
Income tax expense/Pretax iNCOME ..o e 37.809



The Projection Process

Projected Balance Sheet
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Project current assets other than cash, using projected sales or cost of
goods sold and appropriate turnover ratios as described below. I
Project PP&E increases with capital expenditures estimate derived from
historical trends or information obtained in the MD&A section of the
annual report. I
Project current liabilities other than debt, using projected sales or cost

of goods sold and appropriate turnover ratios as described below

Obtain current maturities of long-term debt from the long-term debt
footnote.

Assume other short-term indebtedness is unchanged from prior year
balance unless they have exhibited noticeable trends.

Assume initial long-term debt balance is equal to the prior period long-
term debt less current maturities from 4) above.

Assume other long-term obligations are equal to the prior year’s balance
unless they have exhibited noticeable trends.

Assume initial estimate of common stock is equal to the prior year’s
balance

Assume retained earnings are equal to the prior year’s balance plus I
(minus) net profit (loss) and less expected dividends.

Assume other equity accounts are equal to the prior year’s balance
unless they have exhibited noticeable trends. |
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The Projection Process

Receivables: $5,650 = $52,204 (Sales)/9.24 (Receivable turnover).

Inventories: $6,001 = $35,047 (Cost of goods sold)/5.84 (Inventory turnover).
Other current assets: no change.

PP&E: $25,629 = $22,272 (Prior year’s balance) + $3,357 (Capital expenditure
estimate: estimated sales of $52,204 X 6.431% CAPEX/sales percentage).
Accumulated depreciation: $6,822 = $5,412 (Prior balance) + $1,410 (Depre-
ciation estimate).

Net PP&E: $18,807 = $25,629 — $6,822.

Other long-term assets: no change.

Accounts payable: $6,441 = $35,047 (Cost of goods sold)/5.441 (Payable
turnover).

Current portion of long-term debt: amount reported in long-term debt footnote
as the current maturity for 2006.

Accrued expenses: $1,820 = $52,204 (Sales)/28.683 (Accrued expense turnover).
Taxes payable: $352 = $1,328 (Tax expense) X 26.527% (Tax payable/Tax
expense).

Deferred income taxes and other liabilities: no change.

Long-term debt: $8,283 = $9,034 (Prior year’s long-term debt) — $751 (Sched-
uled current maturities from step 9).

Common stock: no change.

Additional paid-in capital: no change.

Retained earnings: $13,054 = $11,145 (Prior year’s retained earnings) + $2,185
(Projected net income) — $276 (Estimated dividends of $0.31 per share X 891
million shares).

Cash: amount needed to balance total liabilities and equity less steps (1)-(7).



The

Projection

Process

Target Corporation Projected Balance Sheet

Forecasting
(in millions) Step 2006 Estimate 2005
- | $ 1,402 $ 2,245
RECEIVADIES . 5,650 5,064
IMVEMEOMTES 1ovecceerier e ssss s ssasssissens 6,001 5,384
Other cument 855815 ..o ﬁ ﬂ
Total current a55ets ., 14,277 13,922
Property, plant, and equipment.........coeiieeiinnn. 25,629 22,2712
Accumulated depreciation.......cesecseiscien ﬂ ﬂ
Net property, plant, and equipment ..., 18,807 16,860
Other a55ets s 1,511 1,511
Total A55EES 1o ss e $34,595 $32,293
BECoUNts Payable ..o $ 6,441 $ 5779
Current portion of long-term debt........ 751 504
Acorued BEPENSES .. s 1,820 1,633
Income taxes & other ... j ﬂ
Tatal current abilities. ..., 9,364 8,220
Deferred income taxes and ather liabilities............... 2,010 2,010
Long-term debt. . ﬂ ﬁ
Total liabilities ..o, 19,657 19,264
Common SEOCK ..o 74 74
Additional paid-in capital.......cooieeii 1,810 1,810
Retained 8armings ..o sessessens ﬂ ﬂ
Shareholders’ equity ..o, 14,938 13,029
Total liabilities and net worth ... $34,595 $32,293
Selected Ratios
Accounts receivable turmover rate........oocoveeeeciennn. g.240 9.240
Invertony tUrmover Fate.. e 5840 5.840
Accounts payable turnover rate ., S441 5.441
Accrued expenses tUmover rte ..., 28.683 28.683
Tawes payableTan eXpense. .. 26.527% 26.527%
Dividends Per Share ..o $ 0.310 $ 0310
Capital expenditures (CAPEX)—in millions................ 3,357 3,012
N = 6.431% 6A31%



The Projection Process

| | 2 Step Process: |
| 1) Project initial cash balance |

| 2) Increase (decrease) liabilities and equity |
as necessary to achieve historical |

| percentage of cash to total assets. Fund

| (repay) with historical proportion of debt |

| and equity. |



The Projection Process

Projected Statement of Cash Flows

Target Corporation Profected Statement of Cash Flows

(in millions) 2006 Estimate
MEt INCOME e $2,185
ltems to adjust income to cash flows

Depreciation and amortization ... 1,410
Receivables. ... (581)
IMVENEOFIES Lo (B17)
Accounts payable ... G62
Acorued BXPEMSES L 187
Income taxes and other ..., a3
Met cash flow from operationS ..., 3,294
Capital expenditures. ... (3,357)
Met cash flow from investing activities ............. (3,357)
Long-term debt ..o i(504)
DIvIdENAS v (27h)
Met cash flow from financing activities............. (780
Net change in cash. ... $ (843)
Beginning cash .o 2,245
ENding Cash oo s $1,402



The Projection Process

Sensitivity Analysis

r:=-, - . -/, e e
- Vary projection assumptions (e.g., sales

growth, expense percentages, turnover
rate) to find those with the greatest effect
on projected profits and cash flows

- Examine the influential variables closely

- Prepare expected, optimistic, and
pessimistic scenarios to develop a range



Application of Prospective Analysis in
the Residual Income Valuation Model

The residual income valuation model expresses stock price in terms of
prospective earnings and book values in the following equation:
NIy~ (AX BV,) Ny~ (£XBV,)

V,= BV, + T B + 57 PR

Where BV, is book value at the end of period t, Nl,,, IS net income Iin period t+n,
and k is cost of capital (see Chapter 1). Residual income at time t is defined as
comprehensive net income minus a charge on beginning book value, that is, RI,
= Ni, — (k X BV,,).

In its simplest form, we can perform a valuation by projecting the
following parameters:

-Sales growth.

-Net profit margin (Net income/Sales).

-Net working capital turnover (Sales/Net working capital).
-Fixed-asset turnover (Sales/Fixed assets).

-Financial leverage (Operating assets/Equity).

-Cost of equity capital



Application of Prospective Analysis in the
Residual Income Valuation Model

Exhibit 8.6 Valuation of Symivex Commran Stock
EEEEENR

HISTORICAL FORECAST TERMIHAL
FIGURES HORIZOW YEAR
M a5 Ll mm s mm min mn
2% 1L 1 OO BA%  EEEEER EME 4l F.O0% LR L e ERTE
Met prafit mangin (Mt incomafZales) ... 005% QI3 4R 40 4 40 S0 40

Metworking capitel bornower (Zalesfop. NWC) ... 227303 1LEZR)  J0E2FD JLEFFD QLEerl 1LEEFD 11EEFD LEETD
Fooed mssets tumover (Salesifng. fived assets) .. L2341 L9878 J8§7F [ 897F 867 18frg  18E7F 1SETR

Tatal aperating assstaTatal equity ................... 23362 15188 2R ZElgR PSIRR REIRE RSIRE 256
Coat of Bquily ..oeeeeeeeeeeee e 125%

(¥ thoozands)

BAIEE e §81324 $233%  §96.263 B105023  S113425 $121385 E1ZEEdT 5331
MELINCAME «.....ooooreeeeee e 7360 B 0 8,856 9872 L0662 11408 12,73 L2516
Met working CAPIEAL ... e 4,577 144 2,130 B E0 0,500 10,262 10,877 L1258
Ficed assats..... 44,480 a4 427 S2EM 57,060 Bl e471E ]
Tatal aperating assats 51943 5656R 61713 kA B5L 7136 7555 78,241
Lorg-term liabilitias...........ooooevceereeereceeeeecrn, , 31319 34,106 el [ 40,187 o0 4550 47,175
Tatal stockholders’ BqUt ..o, 0511 Me2d 22460 24,5013 26,464 AlE 015 31,066
Residual Income Computation

NELINEIME ... § 8856 § 9872 § 10662 § 11408 § 12093 § 12516
Bleginming agquity o.c.ooeveeeeeeeeceeee e §20624 § 22460 § 24503 § ;484 £ 28316 § 30015
Rlesguiresd aquiby FERUM.......oooeeeee e 12.5% 125% L2.5% 12.5% 125% L2.5%
ExpReted iMEOm . e seeeesseesessseens $2578 % 2807 § 3063 F 3308 § 3340 § 3782
LT LT §E278 § TS § 7500 F 10§ B3 § 5764
ITEE T g1 T T O 0.8889 | 0.7023 QE243 0559

Present value of residual incoms..... ... § 5581 F 532 0§ 533 F SOE Of 4Tk
Cumulative present valug of rasidual incoma.... $ 5581 £ 11183 § 16500 % 215 £ x4

Tarmiral value of residual income..................... £ 54080

Begirring back valug of equity............ooocc..... $ 20624
Walug o Squity...ooeeeeeeeeeeeeeeeeeee $100,565

Comman shares oulstanding (thousandsl......... L7y

Walue of esquity por sham . ceeeeessessesess P omn




Value Drivers

—————————————————————————————————————————————————

' The Residual Income valuation model defines residual
'income as:

Rl, =Ni,—(kXBV,,)
= (ROE,; - k) XBV,;
Where ROE = NI/BV,,

- Shareholder value is created so long as ROE >k
- ROE is a value driver as are its components
- Net Profit Margin

- Asset Turnover

- Financial leverage



Value Drivers

Reversion of ROE

Exhibit 9.7

Reversion of ROE for Quintiles of Firms in the Compustat Database
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Value Drivers

Reversion of Net Profit Margin

Reversion of Net Profit Margin for Quintiles of Firms in the Compustat Database

Net profit margin
{NPM)

30%
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Exhibit 9.8
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Value Drivers

Reversion of Asset Turnover

Reversion of Total Asset Turnover for Quintiles of Firms in the Compustat Database

2.5-
2- — S
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Years after portfolio formation

Total asset
turmover (TAT)

Exhibit 9.9




Short-Term Forecasting

IT TECHNOLOGIES, INC.

For Months January through June, Year 1

Cash Forecast

lanuary February March April May June Sin-Month Totals
Cash balance—beginning.............. $ 15,000 $ 20,000 § 25,750 $ 27,250 $ 30,580 3 30,895 $ 15,000
Add cash receipts for
Cash collections (Exh. 98.1) ......... 40,000 80,000 117,500 145,000 168,750 202 500 753,750
Sale of real estate™ ... — — — — 8,000 a0,000 58,000
Sale of bonds™ ... — — — 47 500 &0, 000 — 107,500
Sale of equipment™ ..o — — — — — 25,000 25,000
Total cash available.................... 55,000 100,000 143,250 219,750 267,330 308,395 858,250
Less cash disbursements for
Materials (Exh. 98.3) ... 20,000 39,000 40,500 49 500 57,000 R, 300 274 500
Labort .. 23,000 31,250 37,500 43,730 20,000 G2,200 250,000
Fixed overhiead® ... 7,000 7,000 7,000 7,000 7,000 7,000 42,000
Variable overhead®.............o.. 10,000 12,500 15,000 17,500 20,000 25,000 100,000
Selling expenses’ ... 10,000 12,500 15,000 17,500 20,000 25,000 100,000
General and administrative®........ 15,000 17,000 15,000 21,000 23,000 27,000 122,000
TAEES e e — — — — — 19,000 19,000
Purchase of fised assets™ ... — 1,000 1,000 1,000 1,000 1,000 5,000
Total cash disbursements ... 87,000 120,250 135,000 157,250 178,000 235,000 812,500
Tentative cash balance (deficit) ... (32,000 (20,2 50) 8,230 B2 500 89,230 73,395 46,750
Minimum cash required® ............... 20,000 25,000 27,000 20,000 30,000 30,000 —
Borrowing required ..., 52,000 46,000 15,000 — — — 117,000
Repayment of [0an ... — — — 20,000 28,000 20,000 (117,000
Interest paid on balance® .............. — — — L.9z0 435 145 2,500
Ending cash balance............cco....... $20,000 $ 25,750 $ 27,250 $ 30580 $ 30,895 $ 44250 $ 4250
Loan Balance. ... $32,000 $ 98,000 $117,000 4 87,000 $ 28,000 — —




